\S/|O/Q023
b A\WWN ”4\‘27{%90&5 A /\ymu_,
Q\L'xs&s}

=

1., Ca- 6)111 - Y + &
W -61'= (Q9‘~ 2)(0\1-& 62 ) = (u-e)) (ﬂ *6)(&24«‘? )

| 3L£L3*f}= C&+6)Quq~u6+6¢2)

Lo 4 (oY= 33328 3o ad e

| 5@y 5)22 Q+ @ 5?4 timiug:’)GB

__“l ol O B
'\'L) N i LR N
'Li'LI AL BRI AL -
A

T

@ B K= A= &4-5109,%5‘7-\-(@“-; 6@-9)

T T R
| & A+ Q19- 2a(3-6) = o2 0d+ 1ot ¢ 4+

S Y S A 268 = 6+ W +e2Ca 43

S 0=0 1o0n.










A RN e —
{
" o =
- |
! ; o 4
L A Y i

L) (x';‘) (ars) =

" +\‘:'Z At

éig(,? 9x+1) +>«(2\ )

+6‘;( + 122 46 %

_)("'




@

& ES
| Dhale | TR
o 0P| 4+
vl A=Y |
oy —lay ™+ ,mu
AR
ON f_&
AR
o e kluwa‘
NN Y .l_rf
M QIL& \.a@ |

| M A Y
A - A./

¥

95T
a bk b

1"

=

L fagé

\l) Ac!x)u

bo O)+@) = 5<a’+& <85




Am 52?& —-65 +7&-—§

e

2o (1= 3) +(><—-3l

=

- ) (‘173'-& 5.1

bl

A’Q?\""L

| é* (x-3)(2x +_i:) S 9% ‘EL‘:‘

%b (x-3)(22+ 1) - (2x° 2. 1) >0

© (@2 1)(x-3-1) >0

- bw

loxves

@? (2»& -F.E) (A

Xwe \:des; xe 1R

oo x>3 |

X = Snth = Ko 2x =% 4G

= x(x-2)-3 (z&,—le

o Gea)s (x-3) |

Pal=1 @821 A




